Q1.

49:7=

Q2.

8,241+ 35+=

Q3.

18 x0=

Q4.

8,200-63-=

Q5.

39+3=

Q6.

The numbers in this sequence increase by 101 each time

Write in the next two numbers in the sequence.

606 707 808




Q7.

Lauren has some cherries. She eats 2 of them.

Then she eats half of what is left. She now has 6 cherries. -

How many cherries did she start with?

Q8.
Jade makes a fruit salad. For every
three apples, she uses one banana.

She uses 27 apples.

How many bananas does she use?

Q9. . N -
These are temperatures at noon and 2 NI
midnight on a day in winter. e e
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How many degrees higher is the o o
temperature at noon than at 0= 0o—H-
midnight? * -5
-10 =10
degrees
Qlo- noon midnight
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There are 64 picture cards in this pile.
Five children each take the same number of cards.

24 cards are left over.

How many cards does each child take?




